Pre-Calculus 11

Chapter 3 Review Name KQ\D
N~—

1. Explain the difference between what is being asked in the following questions and complete

the questions.

a) Factor -5\3%\' fooxor, Can't b) Solve by Factoring —> “Selve . The = Sign means
x2 +5x + 6 find % xX2+7x+6=0 WL find X
=(Xr3y(x+2) C XU )=0
\ Y
X = —| Y= ._lo

2. What is an extraneous root? Give an example.
A exfroneous root S avoot Yo the eguation |
LUt Not & solunon 10 +he problen.

3. What is the discriminant? What does the discriminant tell you? Give examples.

e expression b* ~Hac. Tne dischiminant +e\s you

what type of postible solunon Youhave (2,2 ,0r no roots)
(+he vadicond N Ane quadYaric formulia)

IE b* —yge =C \£ b*-Yac 20 \¢ b?-Hac €0
y \Z L
\ galwirn 2 selwkions & Solutions
4. Factor the following polynomials completely.

(a) 9(x — 1) — 100y2 (b) sx2+-x—6

:(B(IX'\\)Z_\OO\J). :‘Ttxl+%7( “_l_l:‘-
R
r-2-10)(3x-24109)  =HX H6x -

(c) 0.1n2 — 0.1n — 3 (d) 4(x+3)2+8(x+3)—5 ‘et a=x+3

200 (n% = 1y~ 20) ~Ha" v go -5 mn=4(-8) = -2
0\ (N =L ) n+S) =ho*+\0a-20 -5 ,D/ }Z

=2a(20+%) -\(20+5)
~( 70 ~\\(za+%>

= [1(“53 'U{l('x ¥3) +5]
= (2 +9) (2% 1Y)
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5. Solve each equation by factoring.
(a) x2+7x+10=0 (b) x2—x=6

(X +9)(x+¥2)=0 ke =0
X -2y (x+2) =0
xué:o or §+2:0 ( ¢?ﬂ( N
X-3=0 *¥2=0

= =2

(c) 8x*=72x—144 (d) 5x%+20=-25x
Bx* <12y +\MU=0 S*’¥25% ¥20=0_
8 8 S 5
X -qu+'8 =0 XFrS¥ W =0
D‘[ LY (¥ ’éﬂ =0 (md»(\ﬂ (* +\\/\ ) =0

mn-H(z)=12 (€) 4 +8x+3=0 (f) 2 ~5x =0
t/ \1 U T +by r2%+2 =0 X (2%-9)=0
2% (2% x )+ (2% +3)= 0 ) N

2%-5=0
(ir v+ VDY (2 %+ =0 L

2%+ \=0 1x+3=0
- -1
Tz

6. Write a quadratic equation that has the following solutions.

(a) -5, 7 (b) 2,5
X:*S ’Xij X;Z_ X:%
XYS=0 »*-1=0

X-2=0 3x-4=0
s (x-1)=0

(:J( ) \’5‘530 (¥ -2) (3%-1)=0

LR 3y Uy -y ¥ B=0

P‘l '2*'36;05 W'\O'HB:OX
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7. Solve each equation.

(a) 8x2—7 =249 .
A vl 1\:1@
8’[1:2% /)(:‘L o'l
B 0
at=%1

() 2(x—2)* = 18
7 7

8. Solve each equation by completing the square

(a) 3x¥2—12x+9=0 .
\ )c/’)’ 3 3 x-2. =4
C/L(/L\ X -UxX¥>D =0 X =72 +|
(D=4 (%2 Wy e r2 =0\ B3
(v-2)(x-2) -1 =0 N
(x-2)*-1=0 =
((x-* =\
(c) —4x%+24x—21=0
i) : - B
La( 3 * TR

**bx +9 -9 +%(__: =0
(x* -x+q) 2k 21
2 1S e
JG3Y A2
x-3=f 5

9. Solve each equation W|th the quadratic formula.
(a) 4x*—3x-27=0

a4 b=-3 c:=-2]
Y= = (=) (-z)* ~a (2D
2(w)

xS 5*7,\
ﬁﬁ%‘fj
A=3%

=0

(20> =(8

oG+ 57 =f9 o= -5+ =2\
Xr+5= ] f/’xz's"l-‘f@

?‘? > »
= 0
Vs
I e
T

cs'“

(b) x2—12x+31=0
X2 \LA 4B -3 +3) =0

Lo/
(x*=12x+36b) -5 =0 72_((0;?_;(0(0
NEEA )

x-b = I\NG
g«
1 7 P
(d)<zx2+x—5)=0 L —‘?:(L\):Z.
* Yy x-l4=0 (2} =
AT +UYAY -H -4 =0

(¢ * +uaxxn)-18 =0

¥+2 = TN\

’X:—ltm
(b) x*—10x+22=0
q:‘ b:-\() 9:7,2

~ = ~(\ O X\ -4 (\(22)
CATON VRO TARVReT)

2LV
A= \0E\ 100 -5
2
"x:r|0t\r\i
/./
1

wtﬁ%
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b*-4ac

10. Use the discriminant to determine the number of solutions to each question.

(a) 2x*-9x+4=0
(-0 =1 (2 ()

=8\ -3%2
-uq (A Zsowtions)

(c) -6x*—3x+9=0
() -1 (-L)A)

=9+ 2L\

=215

11. Solve the following.
% 2

' — [ ’X
(@) (x— 1 -

¥ (X-1)y =2
A=Y ~L=0

(-2 ) (#41)=0
L \

7z )

(c) =2 — 3(x + 1)% = =50

x 1 7

~5(x+D’= 4%

~ -

= é
Jex)” Al
~x+1 =ty

x=-1 %Y

/

K =-1+Y F=-1-

)

(b) -6x2+7x-5=0
(Y -4 (L) (-2)
=49 -\120

:-'l\

(d) x2—-6x-9=0
(V- =1 (-\N(-2)
=2 ~2b
=0

o So\u‘v\é'r\

(b) x(2x—3) +4(x + 1) = 2(3 + 2x)

TR =ZU+UK A Y = [, +Yx
Uy -b - -y

AR -%y9 -2=0
LE* Y~y % -2=0

2 (x-2) + (2-2)=0

(2% + O (x-2) =0
Y Y

A=Y ‘ ¥=2)

wmn=2(-2)=-Yy
/ N\

-4

(d) 2(x+3)2—11(x+3)+15=0 let+ a="¥+3

18% —\\o +15=0
20 -S0 —ba +\5=0

a(2a-%) -2(20-%) =0

(a-2)(2a-2) =0

[(’xw;\«%}[z("x £3)-57]=0

(x)(Lxxb-91=0
(N2 X+ N0

J \

mn=2018)

=20

/ N\

-5

b

\
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(e) x+ x—l f) VZx —7+5=x
(g )=or )=
X% $ 2% -4 =0 Ay -7 = (=)D
x:/Zt\YTﬁm 0=%* -G -Gy 25 - 2% 1

0= —\2 X3

'Lm
”‘”“ - 0= -4 (-8
\¥

11. The dlagonal of a rectangle is 10 cm. The length is 2 cm longer than the width. Determine
the width. a” +bh*

K +(7<m‘ =10 }:/8’ —> width can't
be Y\‘C%O\‘\‘\VQ

/ R
12 K+ X L2 Lx 4 = 100
LA UR-Ab =0
0_

2 2
xty2x -H8=0
(Xx+g ) (% —b) =0
11. The height of a golf ball, in yards, is h(d) = —0.02d? + 2d, where d is the horizontal

distance the ball has travelled, in yards, after being struck. Determine how far the ball travels
before it first strikes the ground. (Note: Think of what the height is when it touches the

ground).

K&@ [\/\2\3\\’( hert i O yards

‘/\:—G.OZdZ*Zd
O = 'O\O(Ldz "Zd
6= ~0.02d (d—100) K Yhe ball tvavers \oovﬂ

Y

d:O d:\OO







